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; 100kN/m##8%2% | 1.00|0.00 ~ 250\ 139.13 |3mEHEZB| — ~ — — — | 100kN/mZE#BZ% | 1.00 | 11.28 ~ 2200 139.13 |3mEBZ3 -~ — — —
Tnst 1.00 | 250 ~ 1028| 100.00| ThLH | 000 ~ 1028|296 156.86 ZThnLst 1.00 | 5.00 ~ 1128 100.00 | ThL4s | 6,00 ~ 2200 2.96 15.85
2 100kN/m##8%2% | 1.00|0.00 ~ 229| 13568 |3mEEZB| — ~ — — — | 100kN/mi%&#B25 | 1.00 | 1068 ~ 19.61 135.68 |3m%E#BZ5 -~ — — —
Zh st 1.00 1229 ~ 1008| 100.00| LS | 0.00 ~ 1008|247 13.24 Zh st 1.00|5.00 ~ 1068 100.00| ThLs | 5.00 ~ 1961|247 13.24
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st ~ Zzh s ~ st ~ ZTh st ~
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